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Q. P. Code: 22730

(3 Hours) [Total Marks: 80]

N.B.: (1) Question No.1 is compulsory.
(2) Attempt any four questions from Q.2 to Q.7.

1. Write a note on(any four)

(a)
(b)
(©)
(d)
()

2. (a)
(b)

3. (@
(b)

4. (a)
(b)

5. (a)

6. (a)
(b)

Generics in C#

ASP.NET Server control
ViewState

Assemblies

Search Engine Optimization

What is Web Service? Explain UDDI, SOAP and WSDL with
respect to web services.

What is Static Constructor? Explain significance of Static
constructors in C# with example.

What is ADO.NET? Explain different components of ADO.NET.
What is WCF? Explain WCF endpoints.

Explain directory, directory info, file, file info classes in detail.
Explain validation controls in ASP.NET with examples.

Explain the Page Life Cycle of an ASP.NET page with an example.
‘What.is Semantic Web? Explain RDF and OWL in detail.

What is AJAX? Explain Timer control and Update Panel Control
with suitable example.
Explain architecture of NET framework.

7. Differentiate between the following(Any three)

(a).

(®
(c)
(d)

J2EE and Dot NET

Reference type & Value type

_In Process and out process state Management in ASP.net

Postback and CrossPage Posting
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Question No. 1 is compulsory.

a)
b)
c)
d)
e)

f)
Q1

Q2

Q3

Q4

Qs

A

Attempt any four from the remaining six questions. L :
Assumptions should be made whenever required and should bé c]ear]y state
Answers to sub questions should be answered together '
Hlustrate answers with diagrams wherever necessary
Use of Calculators is permitted.

lo

[Marks: 80]

What is international roaming? How dos the GS handle t reduce‘th
effect? : :

What are the advantages of Spreading the- Spectrum'? Expldm dnd dxfferentxate the ' ,. 10
various types of spreading the spectrum -

Discuss the various error corrcctton ches used 1 wu'eless ommu Vcatto gplain 8
convolution codes with a smtable example ' 2
Explain the Standard of Bluetooth? Draw the state dxagram and dtscuss thc various 7
states that a Bluetooth enable device can enter.into, ;

Explain the various methnds used inMAG fay er in IEEE 802,11 to governaccessto 8
the common commumc 10_‘ X :

Define handoff‘ and th 7

What is mob;lc numbcr portab:hty‘? How is. the calI setup chne from and to a ported 8
number in GSM :

S

Dlscuss the IEEE 802 16 standa:d 7
in. the ﬁxcd networkseannot; be adapted in the wireless 8
i What are the" modlﬁcatlons done'to the traditional Transport layer protocols
What are MANETS'7 Analyze the routmg algonthms used in the MANETS? 7
’ 'Define free space loss. Suppose a transmitter produces 70W of power. 8
i) Express the transmit power in dBW.
(ii) If the transmitter’s power is applied to unity gain antenna with a 800 MHz carrier
frequency, what is the rece:ved power at a free space distance of 100m?
'stcuss the ‘various type of channels used by the GSM for traffic and control 7
mformatxon
Write Short Notes on an}g three - 15
1). Frequency reuse
) Fading' .
) iMode -

3k % 2 ok s oK e e e ke ok ook o ok
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Q.P. Code ;02867
[Time: Three Hours] T B Y g Mé?k‘s;SQ]‘m_‘-_
Please check whether you have got the right questron paper."
N.B: 1. Question.No.1is compulsory. - N
2. Attempt any four from the remaining six questmns
3. Use of calculatar is allowed.
Q1 ({(a) Explain various types of crossover technlques in Genetic Algonthm - . . 4 (05)
(b) Explain with suitable example set of cperatlons performed on fuzzy mterval ﬂ {05)
{'\ {c) Explain in brief supervised Iearnmg network ' » {0%)
(d) What is soft computing? Llst the appllcatlons of soft comput:ng : . o : ' {05)
Q.2 (a} Explainin brief any three fuzzy decnsmn makmg techmques . ' {08)
(b} Determine the A-cutsets for the glven fuzzy sets ‘ . 4 {07}
A—{045+055’*'065+07 10} . :
I AT --z_gﬁ' T30 40,50
5= { 0 065+08 035+05}
0 20 30 50
Find the following for A=0.3 and 0:6
1AnBﬂ 2. AwB 3 AuB 4 A 5. AuB 6. AnA 7. ANB
a3 (a) . Explam m bnef the archltecture of Fuzzy Loglc Controller {FLC). {08)
—~ : (b} : WExptam in detall different types of neuron connectlon architecture. {G7)
4 22 (a) ;Whatlsfumficatlon? Explam mbrlef any‘.two methods of membership value assignments. (08)
- (l;)' - lmplementAND functmn usmg perceptron network for bipolar inputs and bipclar targets. {o7)

- '-‘;.V(Jmtlalvalues arewl = W2 = b =0, learning rate=1, threshold =0. 2)

n

{a) " The athtettc race was conducted The following membership functions are defined based the (08)
© speed; of athletes: -
-L o9 0.1 0103 0. 3}
= {.100 200 ' 300
05 057 o.e}

Too+ 700 T 300

Medium = {
. TURN OVER

691A54CABIBACD4ATA3F52499EABIBI3
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nigh = { 155+ 555+ 30
Find the following:

R=Low X Medium

_ S=Medium X High

‘ T=RoS using Max-min composition

!

08 09 10}

L

— M=Re5 using Max-product composition e e E &
— (b} What is Fuzzy Inference system {FIS)? -Explain it along with itstypes. . =~ - : =0 (o7
— Q.6 (a) Differentiate between the following {any-two) Y L el (08)

1.  Biological Neural Network and Artificial Neural Network
2. Genetic Algorithm and Tradltlonal algorlthm ;
3. Hard Computing and Soft Comp" 'qg

(b} Forthe given membershlp function as shq\wn in figure_rb lo" > deterr

— 6 (07)
l by centroid method-ahd weighted average-miethod - =
7 “4 "
—
!
_1 I [N 't '
| 07| , Lh
“ 05} P 05+ P
— B P
P I
4 U ] 1
S ek T - g . -
0 2 3 4 5 6 b 0 ! 2 3 4 5 6 z
- (@) (b
. AQJ:, ,_‘-\Wnte Short Notes on ang thre . (15) !

- 1. Fuzzy measures.

2. Asscciative memory networks

- 3.2 Extension principle <
- .

5

.

Fuzzy set operations ; R
- Travelllng salesman problem using GA approach

I
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N.B. 1. Question No. 1 is compulsory. )
2. Answer any FOUR from the remaining Slkquestloni ;

b) What are the benefits of cloud models? Expfam in:« ]

2 a) What do you mean by client-server binding? \ What IS the role of blndmg age

locating a server?
b) Explain different types of consistency models.. . .

(07) o
3 a) What is ordered message delivery? Explain how each of these semantlcs is 1mp|emehtaﬂ;(8)
(08) b) A clock of a computer system must never run backward: Explain howthis:isste. .. >
(\ can be handled in an implementation of. loglcal clocks conc:Epts y v 4 (7}
4 a) Discuss Service Oriented Archltecture (SOA) What are lts beneflts'? NS (8)
(07) b) Explain pre-emptive process mlgratlon What are d:fferent address space“
transfer mechamsms used in process trans,fe’ Dot n (7)
5 a) What is a Stub? Explam . ! : (8)
b) What are the Load Baianc g transfer polmes used for\dlstanted systems (7)
6 a) Discuss SaaS PaaS and laaS along wuth thelr relatlve beneﬂts (8)
- b} Write short note on Dsstrlbuted System Transparency _ (7)
7. Attempt any'ThreeI of the fo!lowmg - A SR R (15)
a) leferEnnate betWEen Workstation ~ Server Maodel and Processor — Pool Madel
b) leferentlate ‘between Grid Computing and Cloud Computing
c) szferenttate between Full File caching and Block caching Models for Data Caching
~ Mechanism.
(15) Y. "d) Write anote onDCE,

"":e) What are threads? Howihey are dlfferent from processes.

SO 33FB24ESAE4CFODAE754A30C9491DA3D




(3 Hours)
N.B.: (1) Q. No. 1 is compuisory.
(2) Attempt any four from Q.2 to Q.7.
(3) Figures and diagrams to right lndlcate marks
(4) All sub guestions should be grouped and NSV

1. A

TURN OVER
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( 3 Hours)

N.B (1) Question NO.1is compulsory
(2) Attempt any four from remaining six questions.

(3) Tllustrate answers with neat sketches wherever requii‘é
@
Q (@ ents
b A wdeo can have duratlon (T) of 1 houy;’ a'ﬁ'am size'of 4

depth of 24 bits and a frame rate of 25 ps aJéulate the iﬂdeo s1ze,? :

Qz (a) Explainin detail various pnncxpl ., CAnimat
(b) Explain in detail Bitmap i Image \d- ector D

Q3 (a) omip
and dxgltlzed audio in MuItlmedla apph 2
{b) Explain the roles and res on51b11‘nes of all the ultlmedm team, members" 7

Q4 (a) Explain Multimedia ag horil gtobl d :
(b)  Discuss d1fferent typés of, Multimedia; structures?

Q5 @ Explam the process f ma]un DR 8
5 alffe ent symbols @CDE The sym! 7
: B nerate’a Hufﬁnan code tree
- Q6 f planning.and ccstmg in 8
aipi] PEG coftipres 0n process in Detall? 7
Q7 15

mage’ﬁ]e format
ngTechmques :

B17849890635C0F46D54074DEDB0CBC2
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(3 Hours) coomares: S

N.B.: 1) Question No.1 is compulsory. o _
2) Attempt any four from the remammg six questlons

1. (a) Explain the concept and characterlstlcs of qualxty What are the : ',_(‘10)

factors affecting the software quallty" I o REERR

(b) What are Hierarchical Models of Quahty‘? Explam James e (10)
McCall’ sQualltyModel R R

2. (a) Define and explain SQA What are the vanous actlvmes mvolved (07)
. in SQA? '

{ {b) Explain SEI’s CMM in detalls and dxfferentlate w1th «1 (08)
ISO 9000/9001. , _ -
3. (a) Explain Is1kawa s 7 basm tools of quahty in detalls :‘_ - (07)

(b) Explam role of four P sin project development and management (08)

4. (a) Whatare elements of Qual1ty Engmeermg'? Explam each in brief.  (07)

(b) Explaln Statlstlcal Qualxty Assurance in deta11 (08)
5. (a) ‘;Explam Goal Questmns Metric (GQM) approach in detail. 07)
(b)- _ﬂExplam Zero Defects soﬁ:ware development with its principle and  (08)
. practlces o -
A_\6:f-i(a) How human quahty culture is, the key to quality management? 07)
r‘ T *f-_;_(b) Explam measures and metrlcs of software quality. (08)
y- ;I.EQ:‘Wnte Short Notes on any thre - (15)
N :_{__a) COQUAMO
" b): FURPS+ Model

7 9QED
.y d) SIX ngma

B17849890635C0F46D54074DED831611




